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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

T4 HISA/ TR F § W E | W T H =R T 3R 9
FHAE I T |

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Uek ' Ihfeush '’ YRR 1§ FEeh T i 40 § qen
YT &1 AR YRR AT 7 SR 3T Fd 31 60 T |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.

U Ueh o SR, ATHAR IAE-Yfert R & g 91 §)
URT S ! ITR-FehT H W Teh & ST & 63 ST =Ted |

PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Teh / PART ONE

(T U9 o ST € / Answer all the questions)

1.1

1.2

o Weieh U9 oh ST oh oh (dehed foU T
¥ T gl Suge fasen o ofit @
Y99 U o |rg fou e sfmHem’ SR
ek H, fau o frdeit & o Ew, Tt Wi

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the "OMR"
answer sheet supplied with the question
paper, following instructions therein.
(1x10)

A | WA AL & ?

(A) MQTT

(B) HTTP

(C) CoAP

(D) SPI

Which protocol is lightweight ?

(A) MQTT

(B) HTTP

(C) CoAP

(D) SPI

T T YR TG A1 TA 1 AT & 2
A)  iferafidt HeX

B) U HW

C) THER HW

D) I HW

Which device measures gases or liquid ?

(A)

B) Pressure sensor

(
(
(
(

Proximity sensor

Temperature sensor

Touch sensor

1.3

1.4

1.5

ESP8266 ¥ T ?
(A) FEHE S
(B) T

€ =

(D) JITHS Shere
What is ESP8266 ?
(A) WIFI module
B) Sensor

(
(C) Board
(D) USB cable

H T 3Te-3Te e Bt § S
T foigeli R It Bt 7
(A)  gffEx
(B) YfSw emHie
(C) HiRTA
(D) WHhEHRI AHRd TW

consists of two different metals
connected at two points.
(A) Thermistor
(B) Resistance Thermometer
(C
(

) Thermocouple
D) Semiconductor based sensor

IoT 9219 o ESENEREI D]
& 1 TR 1 STANT foman ST Hehal © 1
(A) 2
B) 3
€ 4
(D) 5

Smart phones can be used in IoT setup

with application categories.
(A) 2
(B) 3
© 4
D) 5
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1.6 fAfafed § @ &F [oT fearyd & fau @au | 1.9 FITHIE Th AH-T= g
X
(A) @TIH (A) TR
(B) Wi 3mueT
(©) wfim (B) W
(D) Ul |t
Which of the following is threat to IoT (©)
Device ?
(A) Virus (D) =M
(B) Natural Disaster
(C)  Spoofing Communication is a non-stop :
(D) All of the above
. (A) Paper
1.7 fodt foxm feafa # avg =1 gfgam ad* 4
yfafsran & & faw & @t favad g (B) Process
=feq ?
(A) Ffgam (C) Programme
B) wAfeRfaed
®) (D) Plan
(C) ferefter wpfa
(D) ¥R Y°M
Which characteristics involve the facility
the thing to respond in an intelligent way wferie T
to a particular situation ? 110 ®R —— B %
(A) Intelligence
(B) Connectivity (A) PaaS
(C) Dynamic Nature
(D) Enormous Scale (B) IoT Service Provider
1.8 frefafad 3 & =i e fafire sneie fawen (€) SaaS
H guf & € 2
e (D) TaaS
(A) 3TEeAE feamw
(B) e The core element is operated by :
(C) TR
(D) SR H ¥ il T8l (A) PaaS
Which of the following is not an asset in a
typical IoT System ? (B) IoT Service Provider
(A) IoT Device
(B) Gateway (©) SaaS
(C) Application
(D) None of the above (D) IaaS
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

i fear oy faavor ar o @& =@
TAd ¥ Ueh HoW Iuged faehed oA 3
U Y9 U o 91 fIU I ¢ SfiuweR’ S
ek |, fou T frdei & ITER, o Wi
(1x10)

3R A § SIRUERSTES! o TR 9§
AR i g1 Tid: W i S Tehell T |

M Tk yfamH =& ¥ s waferor #
HeeATql Suftufa e =

THUAT 1 JUiEq-Hidg Tee TiHe 71

(WY ~ fa

THRISE HIShlcl SHUHTA H STAN Bl & |

Build() 3R loop() Arduino IDE & T HeRTd
2l

foige &M g1 = g& fomivarst 4 ¥ &
ttwgﬂ.ﬁ:ﬁ.{n%l

IoT e feary, W iR Tagued #1 &
FeTHh T S Teh T o Y TSR H Tohal
7

YREeh 9N T U gishan © f5ad shaat
Mg iR T-difgs Hew O wiga 21

JYTEl TOR Yeigeh & 3799 999 o ST 9
Heifera &l ® 1

2.10 EY/MER Tk TR-TA Aled §, Sdih

reeTE ¥ | wd et ¥ |

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the "OMR"
answer sheet supplied with the question

paper, following instructions therein.
(1x10)

The use of RFID in product logistics may
realize automatic acquisition of logistics
information.

IoT is not a paradigm that involves
ubiquitous presence in the environment.

SLA stands for Service Level Agreement.

MQTT protocol is used in GSN.

Build() and loop() are two functions of
Arduino IDE.

One of the main characteristics of Linked
Stream Data is "Live Streaming'".

IoT is a network of smart devices, sensors,
and actuators that can interconnect with
each other.

Interpersonal communication is a process
that involves only sending verbal and
non-verbal messages.

Effective communication is not related to
the manager's use of his or her time.

TCP/IP is a four-layered model, whereas,
OSI has seven layers.
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3. Rt X ¥ feu U wisdl oiv arernt ot fae, wiem Y ® fau T fenean wwifia et/ vredly
TSI W | U foehed U9e U o |1e U T STuwe’ | 3% useh |, U T 3reei o

e Y gU, €51 ohi | (1x10)
X Y
3.1 |l Ul (A) :1:?;;122?@‘ ﬁ%w’ e
3.2 |eTEeiel enfdheaad (B) |TerEiEt
3.3 |3TSEl 3eRIEE SaTUHE TAARITHE (C) |I®TE ¥ §S 3T
foire, SyEe, Sedeh, e,
3.4 |fafrs fred fomm (D) |wrferfesy, S €, 3iv
it wnfie
3.5 TRl faenfidt (E) | Qe
3.6 |3TESIE HHfaefad! AiseH (F) [S9a 1, oot 2, dad 3, dadt 4
3.7 |TEeAR shifa=y (G) |HTEshl e T i
3.8 |TESTET dacd (H) |wei= afdn
3.9 |Usge ©f o (I) |[Yowm-T=H
) T — o [
K feamra-2-feary, feara-2-
FARE, feama-g-Ted
(L) [ciree sTenfed Sush
(M) |are e Y
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3.  Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s)
in column Y. Enter your selection in the "OMR" answer sheet supplied with the question

paper, following instructions therein. (1x10)
X Y
31 |IoT Applicati A Sensors, Protocols, Actuators,
. o cations
PP (&) Cloud services and layers.
3.2 |IoT Architectures (B) |LCD

Arduino Integrated Development

3.3 (C) [safeguard connected devices

Environment
Include remotes, dashboards,
3.4 |Liquid Crystal Display (D) [networks, gateways, analytics,
data storage, and security.
3.5 |IoT Security (E) |Healthcare
3.6 |loT tivi dels . Level 1, Level 2, Level 3,
. ol connectivity mode (F) Lovel 4
3.7 |loT ecosystem (G) |program the microcontroller
3.8 |IoT Levels (H) [Machine Learning
3.9 |Embedded C language (I) [Self-esteem
cross-platform application that
310 [LDRinIOTare___ (J) |is written in functions from C

and C++

Device-to-device, Device-to-

cloud, Device-to-Gateway

(L) |Light dependant devices

(M) [Load Dependent Resistor
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4. o fou Uy e W, i € TE gEi 9 ek 916 O 91ed okl fote o Tt e e #
Hod e faehed <4 3N 36 U9 uF & Wiy fqu T iwwe’ S Wk #, fqu T

T oh AN, TS el | (1x10)
() ?ﬁzg (B) [z (€) [iin (D) ;g%: e
(E) |Rere (F) |[Ffefeet (G) [ Turdy (H) |ATmega328p
(I) [sTrer-Swrear | () [Sefagy (K) [3sieer (L) |[STTEaTET Hored
(M) [t

4.1 ST Y 3T 1 THHTY AR TS ! T I T |

4.2 TS ¥ g foivarsti § € T & €9 ¥, TRl § fafa= sréaat wiewH

3R Fead B § |

4.3 SRS SUH WIfEH 9 H Tl % Ffq HegTRid B € |

4.4 YR eI TEM T, TR g STETS] STHLN oh 1Y |

4.5 n YTl T TaT ST § ifohd S99k |1 21 9% X5, T uared &1 off Wl o1 Hehell

|

4.6 VeI THEIR I He % o e e S =

4.7 STEATH H YoiEy 7

4.8 FAES Y TH STRY A €9 Y I B B

4.9 TERT FESE THRT A BT S ¢ |

4.10 ATgshisheler © S 3788 UNO ¥ 3w foran s 21
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Choose the most appropriate option, enter your choice in the "OMR" answer

sheet supplied with the question paper, following instructions therein. (1x10)
. Intelligent
A) Capacitive (B) |Security (©) |Loggi (D) [Transportation
( Proximity e ) P
Services
(E) |Method (F) |Connectivity (G) [RAM memory | (H) |ATmega328p
(I) |Self-awareness | (J) [Bandwidth (K) |Presentation (L) |IoT Levels
(M) |Heterogeneity

4.1 empowers IoT by bringing together everyday objects.

4.2 in IoT as one of the key characteristics, devices have different hardware
platforms and networks.

4.3 IoT devices are naturally vulnerable to threats.
4.4 in a cellular network is expensive, especially with many IoT devices.
4.5 detects metals but along with it can also detect resins, liquids.

4.6 Gateway software should be smart enough to handle

4.7 ITS stands for

4.8 A request from client is basically made of

4.9 General purpose memory is called as

4.10 is the microcontroller used in Arduino UNO.
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I &1 / PART TWO

(T8l = wosil o ST S/

Answer any FOUR Questions)

g AT T (STEaT) 1 iy &=

TR FT GUTE TS ?

STESTIRT eaeh Tl FiART L= &
T |

AT Toem o g am @ § 2

What impacts will the Internet of
Things (IoT) have on Agriculture
Sector ?

Explain the basic architecture of the
IoT network.

What are the main parts of IoT
systems ? (4+8+3)

eSS 1 B 2 SHeh Al ol g
|

T gEEsl W ==l oY o sTEaid
foernfEt g0 g fopan <1 Wehel €

What is [oT ? Enlist the benefits of
the same.

Discuss the problems which can be
solved by IoT Security. (7+8)

etz S foirg (améaldh) o g
T R TR e & & W H Y9
S ?

ST R ? TGl 9IS o fag faw
19T R ford 7 31gEAl are | faeme
BEAT AR 3HH FIE 7

What affect will the internet of
things (IoT) have on infrastructure
and smart cities region ?

What is an Arduino ? How to
write instructions or programs
for Arduino boards ? What are
the hardware communication
interfaces present in the Arduino
board ? (7+8)

TeTHATY (NodeMCU) & €Y

ToHI-05 SC[2Y Al STHIET hi
T 6 |

Teh AT ol 3791 Africd o fod &
fora £ fagreareti st fAaior e =nfen
ITRT FUH i |

Explain HC-05 Bluetooth Module
Interfacing with NodeMCU.

Describe the traits that an individual
should have to build for the
development of his/her personality.

(8+7)
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9. freferfad %1 ey § THeEy (g i) ¢

(a) SITHSTE Hied
(b) THI YA
(c) HTEShIhZIER

(d) ST Uk Wk

Briefly explain the following (Any three) :
a) OSI Model

b) Time Management

c)  Microcontroller

(
(
(
(d) IoT Protocol Stack (5+5+5)

-00o0-
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